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1. Majed paddled around five buoys, as shown. Around which of the buoys did

Majed paddle in a clockwise direction?

2,34 1,2,3 1,3,5 2,4,5 2,3,5
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2. Baian rearranges the five humbered pieces shown to display the smallest

possible nine-digit number. Which piece does she place at the right-hand end?
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3. Kengu enjoys jumping on the number line. He always makes two large jJumps
followed by three small jumps, as shown, and then repeats this process
over and over again. Kengu starts his jumping routine on 0. On which of
these numbers will Kengu land during his routine?

82 83 84 85 86
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4. The number plate of Saleh’s car fell off. He put it back upside down but
luckily this didn't make any difference. Which one of the following could be
Saleh’s nhumber plate?
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5. Rami the Builder has a brick whose shortest side is 4 cm. He uses several such
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bricks to build the cube shown. What are the dimensions, in cm, of his brick?

4xbox12 4x6x16 4x8x12 4x8x16 4x12x16
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6. The black and white caterpillar shown in the picture curls up to sleep. Which

of the following could be seen?







